HEES B [ N—t b HEES B [ N—t b HE®S : % . G WA e 2%
25-6001 12 2.2 25-6161 8 1.5 25-6372 1 1.3
25-6002 6 . 25-6162 6 1.1 25-6381 ) 0.9
25-6021 11 2.0 25-6163 14 2.6 25-6391 4 0.7
25-6022 6 1.1 25-6164 10 1.8 25-6392 6 1.1
25-6031 12 2.2 25-6181 8 1.5 25-6411 17 3.1
25-6032 6 1.1 25-6182 1 1.3 25-6521 4 0.7
25-6071 15 2.8 25-6183 5 0.9 25-6571 1 0.2
25-6072 1 1.3 25-6184 6 1.1 25-6601 4 0.7
25-6101 9 1.7 25-6191 11 2.0 25-6611 9 1.7
25-6102 1 1.3 25-6192 4 0.7 25-6661 3 0.6
25-6103 11 2.0 25-6193 15 2.8 25-6681 1 1.3
25-6104 11 2.0 25-6194 13 2.4 25-6711 4 0.7
25-6111 9 1.7 25-6211 12 2.2 25-6721 2 0.4
25-6112 1 1.3 25-6212 8 1.5 25-6791 ) 0.9
25-6113 11 2.0 25-6213 11 2.0 25-6811 0 0.9
25-6114 11 2.0 25-6214 12 2.2 25-6851 4 0.7
25-6131 5 0.9 25-6252 8 1.5 25-6885 1 0.2
25-6132 9 1.7 25-6254 5 0.9 25-6891 1 0.2
25-6133 3 0.6 25-6255 14 2.6 25-6901 4 0.7
25-6134 2 0.4 25-6257 8 1.5
25-6141 11 2.0 25-6258 1 0.2
25-6142 6 1.1 25-6259 9 1.7
25-6143 10 1.8 25-6281 4 0.7
25-6144 10 1.8 25-6282 4 0.7
25-6151 8 1.5 25-6291 6 1.1
25-6152 10 1.8 25-6301 1 1.3
25-6153 3 0.6 25-6351 3 0.6 RiRfE 0 0.0
25-6154 1 0.2 25-6371 4 0.7 a & 945 0.0




F1 R

i %24 n—err A%N—tr | BRB/N—EVF
B 297 545 545 545
g 223 40.9 40.9 95.4
a3 TNt 0 0.0 0.0 95.4
fEE= 25 4.6 4.6 100.0
=110 545 100.0 100.0
RIRE SRATLRIAE 0 0.0
=11 545 100.0
m B
mitE
mZNDith

= #RE &



M2 £

i %4 N—tk BPN—tF | RWAN—EE
(1) 25 LLF 372 68.3 70.5 70.5
(2) 26~30&% 76 13.9 14.4 84.8
paon (3) 31~354 19 35 3.6 88.4
(4) 36~40%8 26 4.8 4.9 93.4
(5) 41LLE 35 6.4 6.6 100.0
aft 528 96.9 100.0
RiRE SARATLRARE 17 3.1
& 545 100.0

m(1) 25mLLTF
m(2) 26~30m%
m(3) 31~35m
=(4) 36~40m%
a(5) Ml




3 a—X

¥ N—t2k AN—Er | RBN—EIF
(1) BEREEI—R 262 48.1 48.1 48.1
% (2) ZFRREEI—R 283 51.9 51.9 100.0
&t 545 100.0 100.0
RIRE SATLRIRE 0 0.0
418 545 100.0

m(1) EFEXREEI—R
m(2) ;EZFEEEI—XR




M4 BEFE
B N—tk BHN—tr | RRAN—EIF
(1) i 382 70.1 70.1 70.1
(2) &S OXEREH 99 18.2 18.2 88.3
8 (3) B RFHB 19 35 35 91.7
(4) K&k 31 5.7 5.7 97.4
(5) £Dith 14 2.6 2.6 100.0
&t 545 100.0 100.0
RiRE SARATLRIBE 0 0.0
& 545 100.0

= (1) RSP

m(2) FHLS DCERFED
u (3) BRRFH

=(4) KPh

7(5) £Dth



5 fiE AR
¥ Nn—tok AN—Er | RBN—EIF
(1) & ANERHD 147 27.0 27.0 27.0
% (2) tt & AR 398 73.0 73.0 100.0
&t 545 100.0 100.0
RIRE SATLRIRE 0 0.0
&8 545 100.0

u(1) = ANiEEH D
m(2) ft= NFEERTL




f6 #8HE

i %4 n—evk ARN—tr | BRN—EL
(1) wERBTHD 409 75.0 75.0 75.0
g (2) BIRKIETHD 67 12.3 12.3 87.3
(3) &R B TR 69 12.7 12.7 100.0
=118 545 100.0 100.0
RIR{E AT LRIRIE 0 0.0
=118 545 100.0
m(1) HEEBTHS
m(2) BIRWMETHD

= (3) WMER B TR




a7

HMEE | B | /—tob
0% 0 0.0
1~9% 0 0.0
10~19% 0 0.0
20~29% 0 0.0
30~39% 0 0.0
40~49% 0 0.0
50~59% 0 0.0
60~69% 0 0.0
710~79% 0 0.0
80~89% 5 0.9
90~99% 69 12.7
100% 470 86.2
y=1.18 544 99.8
VAT L
RiR(E 1 0.2

100

90

80

70

60

90

—t> ok

S 40
30
20

10

M7 HEE

0

~9 ~19~29~39~49~59~69~79~89~99 100



8 #HEYAX

¥ n—tor AN—Er | RBN—EIF
(1) EEXRETED 12 2.2 2.2 2.2
53 (2) HEFBELHGKES 519 95.2 95.2 97.4
(3) HEINSTES 14 2.6 2.6 100.0
=1.11 545 100.0 100.0
RIRE AT LRIRIE 0 0.0
=118 545 100.0
m(1) HERETTES
m(2) BEIFYLZKRES

u(3) HENETED




M9 S/ RIFBEICES]

EX N—tohk ARnN—toF | RBN—EVE
1. 25EBDHEL 7 13 1.3 13
2. BIEBDHEL 14 2.6 2.6 3.9
2 3. EELL BB 131 24.0 24.0 27.9
4. 2585 302 55.4 55.4 83.3
5. B<ES3R5 91 16.7 16.7 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
=118 545 100.0
0 ;g 3.84
50
A
£ 40
Y]
L 30
S
e 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




M10 &ﬂﬁ#iltﬁﬂ]f—af—

n—eok a¥N—t2F | RBIN—EVE
1. 2{E5EBDEL 4 0.7 0.7 0.7
2. T5IEBDHEL 14 2.6 2.6 3.3
i |3 EHHELERLL 101 18.5 18.5 21.8
4. 585 289 53.0 53.0 74.9
5. W<ESRS 137 25.1 25.1 100.0
atft 545 100.0 100.0
RIVE [ AT LRIBHE 0 0.0
&t 545 100.0
EGE 3.99
o0
e
R 40
Ky
L 30
8
I 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




fi11 LYat-RETEYEo7

EX N—tohk ARnN—toF | RBN—EVE
1. 25EBDHEL 6 1.1 K 1.1
2. BIEBDHEL 24 4.4 4.4 5.5
2 3. EELL BB 64 11.7 11.7 17.2
4. 2585 288 52.8 52.8 70.1
5. B<ES3R5 163 29.9 29.9 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
y=1.18 545 100.0
0 iy 4.06
50
A
£ 40
Y]
L 30
S
e 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




12 MAESETE-o7

EX N—tohk ARnN—toF | RBN—EVE
1. 2{E5EFBDHELY 1 2.0 2.0 2.0
2. BIEBDHEL 22 4.0 4.0 6.1
2 3. EELL BB 15 13.8 13.8 19.8
4. 2585 297 54.5 54.5 743
5. B<ES3R5 140 25.7 25.7 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
=118 545 100.0
0 iy 3.98
50
A
£ 40
Y]
L 30
S
e 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




13 S RIEBEYI=o7-

i 1.4 n—eor BYN—E+ R/ S—EVF
1. £2{F5EFRHAEL 10 1.8 1.8 1.8
2. BSIEEHE 37 6.8 6.8 8.6
2 3. £ EAEL 57 105 10.5 19.1
4, 585 315 57.8 57.8 76.9
5. #<ES5RS 126 23.1 23.1 100.0
=118 545 100.0 100.0
R | AT LRBIE 0 0.0
Y=1.18 545 100.0
0 iy 3.94
60
L 50
R
M 40
I< 30
=R
P
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEALGL

4. 585

5. <%

Ji
cH
Ji




14 EEIXEEo7

i 1.4 n—eor BYN—E+ R/ S—EVF
1. 2{E5F_H7%L 14 2.6 2.6 2.6
2. B5FXBRHAEL 37 6.8 6.8 9.4
2 3. £ EAEL 79 145 145 239
4. 585 294 53.9 53.9 11.8
5. #<ES5RS 121 22.2 22.2 100.0
=118 545 100.0 100.0
RBE | ATLRAR 0 0.0
y=1.18 545 100.0
0 - syl 3.86
50
L
£ 40
Y]
L 30
>
I 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




M15 BEAEIIEESh T
BEX

N—tok ARnN—toF | RBN—EVE
1. 2{E5EFBDHELY 1 2.0 2.0 2.0
2. BIEBDHEL 16 2.9 2.9 5.0
2 3. EELL BB 67 12.3 12.3 17.2
4. 2585 275 50.5 50.5 67.7
5. M<E585 176 32.3 32.3 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
=118 545 100.0
0 iy 4.08
50
A
N 40
Y]
L 30
S
e 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




16 IM -ZEERAECTEMER-7-

n—tor AN—Er | RBN—EIF
1. 2L BHAE0 9 1.7 1.7 1.7
2. B5EBHEN 22 4.0 4.0 5.7
2 3. EbEtH B A G0 93 171 171 22.8
4. 585 2717 50.8 50.8 713.6
5. <T8>S 144 26.4 26.4 100.0
=118 545 100.0 100.0
R | ATLRAR 0 0.0
=118 545 100.0
0 sigfE 3.96
50
wd
N 40
Y]
L 30
R
I 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




17 ?Iﬁ LA A1

n—eor B N—E2F R —EF
1. 2{E5F_H7%L 71 1.3 1.3 1.3
2. B5FXBRHAEL 16 2.9 2.9 4.2
2 3. £ EAEL 27 5.0 5.0 9.2
4, 585 264 48.4 48.4 57.6
5. #<ES5RS 231 42.4 42.4 100.0
=118 545 100.0 100.0
RBE | ATLRAR 0 0.0
y=1.18 545 100.0
0 sEiyfE 4.28
50
L
£ 40
Y]
L 30
>
I 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




18 Wz—#otﬂkﬂhtw—

N—tok ARnN—toF | RBN—EVE
1. 2{E5EFBDHELY 4 0.7 0.7 0.7
2. BIEBDHEL 5 0.9 0.9 1.7
2 3. EELL BB 22 4.0 4.0 5.7
4. 2585 225 41.3 41.3 47.0
5. B<ES3R5 289 53.0 53.0 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
y=1.18 545 100.0
O gl 4.45
50
A
£ 40
Y]
L 30
S
e 20
10
0
1. 2LB5EFBDHEL 2, B5EFBHEL 3 EBLELEALL 4. 585 5. 5<E5R85




W19 E#Nﬁiﬂﬁ -HIETET:

n—eor B N—E2F R —EF
1. 2{E5F_H7%L 12 2.2 2.2 2.2
2. BSIEEHE 40 1.3 1.3 9.5
2 3. £ EAEL 110 20.2 20.2 29.7
4, 585 278 51.0 51.0 80.7
5. #<ES5RS 105 19.3 19.3 100.0
=118 545 100.0 100.0
RBE | ATLRAR 0 0.0
y=1.18 545 100.0
0 sEiyfE 3.78
50
L
£ 40
Y]
L 30
>
I 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




20 E!Wﬁl-ﬁﬂ RIS 7=

N—tok ARnN—toF | RBN—EVE
1. 2{E5EFBDHELY 4 0.7 0.7 0.7
2. BIEBDHEL 14 2.6 2.6 3.3
2 3. EELL BB 58 10.6 10.6 13.9
4. 2585 266 48.8 48.8 62.8
5. B<ES3R5 203 37.2 37.2 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
=118 545 100.0
O Jig(E 4.19
50
A
£ 40
Y]
L 30
S
e 20
10
0
1. 2LB5EFBDHEL 2, B5EFBHEL 3 EBLELEALL 4. 585 5. 5<E5R85




f21 BRZEZ T TSoL2MRmELE-{E>T -

i 1.4 n—eor BYN—E+ R/ S—EVF
1. 2<ESEBHHEL 7 13 13 13
2. BS53FEHAEL 17 3.1 3.1 4.4
2 3. £ EAEL 17 14.1 14.1 18.5
4, 585 258 47.3 47.3 65.9
B. B<ESRS 186 34.1 34.1 100.0
=118 545 100.0 100.0
RBE Y27 LA 0 0.0
y=1.18 545 100.0
0 sEiyaE 4.10
40
A
2 30
4
& 20
&
10
0

1. 2ESEBDHEN

2. BB HE

3. EBLELEAEL

4. €585

5. M<ESRS




[22 7912 AV MEEY o7

i 1.4 n—eor BYN—E+ R/ S—EVF
1. 2{E5F_H7%L 14 2.6 2.6 2.6
2. B5FXBRHAEL 15 2.8 2.8 5.3
2 3. £ EAEL 113 20.7 20.7 26.1
4, 585 291 53.4 53.4 79.4
5. #<ES5RS 112 20.6 20.6 100.0
=118 545 100.0 100.0
RBE | ATLRAR 0 0.0
y=1.18 545 100.0
0 sy 3.87
50
L
£ 40
Y]
L 30
>
I 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




123 E*lﬂ:ﬁ"ﬂ‘]l-iﬂﬂ@b‘(-’ﬁaﬂ)f—of—

N—tok ARnN—toF | RBN—EVE
1. 2{E5EFBDHELY 7 1.3 1.3 1.3
2. BIEBDHEL 26 4.8 4.8 6.1
2 3. EELL BB 44 8.1 8.1 14.1
4. 2585 262 48.1 48.1 62.2
5. B<ES3R5 206 37.8 37.8 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
y=1.18 545 100.0
O g0l 4.16
50
A
£ 40
Y]
L 30
S
e 20
10
0
1. 2LB5EFBDHEL 2, B5EFBHEL 3 EBLELEALL 4. 585 5. 5<E5R85




24 Eﬁ'E!u PEEFERTo

N—tok ARnN—toF | RBN—EVE
1. 2{E5EFBDHELY 1 2.0 2.0 2.0
2. BIEBDHEL 47 8.6 8.6 10.6
2 3. EELL BB 91 16.7 16.7 273
4. 2585 276 50.6 50.6 78.0
5. B<ES3R5 120 22.0 22.0 100.0
ait 545 100.0 100.0
RAME [~ ATLRRME 0 0.0
=118 545 100.0
O g 3.82
50
A
£ 40
Y]
L 30
S
e 20
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




25 Eﬁ' B, H8EXERTok

nN—tok a¥N—t2F | RBIN—EVE
1. 2L BHAE0 18 3.3 3.3 3.3
2. BB HAEN 102 18.7 18.7 22.0
2 3. £ ‘AL 141 25.9 25.9 479
4, T585 197 36.1 36.1 84.0
5. <T8>S 87 16.0 16.0 100.0
=118 545 100.0 100.0
RBME |2 ATLRAR 0 0.0
=118 545 100.0
0 giyfE 3.43
30
wd
A
Y]
L 20
~
R
e
10
0

1. 2{ESEFBDHEN

2. B3FB i

3. EBLELEARL

4. 585

5. HM<ESRS




(26 B% B ORMBEN

¥ Nn—tok AN—Er | RBN—EIF
1. A7] 0 0.0 0.0 0.0
2. 7] 12 13.2 13.2 13.2
A2 3. B 173 31.7 31.7 45.0
4. Bk 170 31.2 31.2 76.1
5. % 130 239 23.9 100.0
=1.11 545 100.0 100.0
X2 AT LRRI 0 0.0
=118 545 100.0
Y0 syl 3.66
30
A
R)
Y]
L 20
~
R
T
10
0

1

. A




27 RO

i % n—tok B N—t2r R/ S—EVF
1. FtfliL 355 65.1 65.1 65.1
2. AR 46 8.4 8.4 713.6
3. "= 30 5.5 5.5 79.1
=% 4. DER 8 1.5 1.5 80.6
5. IRE 10 1.8 1.8 82.4
6. Tt 16 29 2.9 85.3
7. R3E 80 14.7 14.7 100.0
=118 545 100.0 100.0
RiRE AT LRIAME 0 0.0
y=1.18 545 100.0
ml, L
m2, &=
m3, HE
n4, NKE
nb, HEE
m6. TNk

07, RE




